



Naam: \_\_\_\_\_

Datum: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^0 - \frac{3}{4} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{2}{5}\right)^{(-1)} + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{3}{5} =$$



Naam: \_\_\_\_\_

Datum: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{2} = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{1}{2} = \frac{11}{2} = 5\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) = \frac{53}{80}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} = \frac{23}{4} = 5\frac{3}{4}$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{6}\right) = \frac{217}{6} = 36\frac{1}{6}$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} = \left(-\frac{3}{80}\right)$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \frac{3}{4} = \left(-\frac{29}{12}\right) = \left(-2\frac{5}{12}\right)$$

$$\left(\frac{1}{2}\right)^0 - \frac{3}{4} = \frac{1}{4}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{43}{80}\right)$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{3}{5} = \frac{107}{45} = 2\frac{17}{45}$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} = \frac{53}{80}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{3}\right) = \frac{22}{9} = 2\frac{4}{9}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{3}{5} = \frac{23}{5} = 4\frac{3}{5}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) = \frac{1}{2}$$

$$\left(\frac{2}{5}\right)^{(-1)} + \frac{1}{4} = \frac{11}{4} = 2\frac{3}{4}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} = \frac{7}{12}$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{3}{5} = \frac{48}{5} = 9\frac{3}{5}$$